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Accrued salaries of § 1,590 owed 1o employees for December 30 and 31 are not con-
(’3 D sidered in preparing the financial statements for the year ended December 31 In-
107' dicate which items will be erroneosly stated, hecause of the error, on (a) the income
b statement for the year and (1) the balance sheet as of December 31, Also indicate
whether the items in error will be overstated or understated.
7) Assume that the error in (5"/) was not corrected and that the $1,590 of ac-
(3 ’", crued salaries was included in the first salary payment in January. Indicate which
ID/ items will be erconeously stated, because of failure 10 correct (he initial error, on
v (2) the income siatement for the month of January and (b) the balance sheet as of
January 31
) , el @ foccracr are the three largest grocery chains
12 Kroger Co., Albertsor’s knc., and Salesvay Inc. are lht ::l:;:’q;;f;ct f)f the grocery
i ’ . Ciatpc onlor anagement is an imports aspce . v D ’
in the United States. Inventory m‘umgtmfn. oo o ies indicated the fol
'7_07 retail business. Recent balance sheets (or these threg companies indica
- 0

lowing merchanclise inventory informatio

Merchandise Inventory

Er:dof Year Beginning of Year

(in millions) {in millions) N
Xigérlson's $2,973 $3,196
Kroger 4,175 4,178
Safeway 2,558 2,437

The cost of goods sold for each company were:

Cost of Goods Sold
(in millions)

$25,242

Albertson’s
Kroger 37,810
Safeway 22,303

in i i rnover (or the
a. Determine the number of days' sales in inventory and m\./emonlf mmoéo/
. [1]1:66 companies. Round to the nearest day and one decimal place. %
b Inlerpr‘e[ your results in (a). o o :lnﬁ‘ rad
l If Albertson’s had Kroger's number of days’ sales in inventory, 10:\[/ 1 .‘“ .l. m
i . Tow | I ¥ smaller in-
: tional cash flow would have been generated from the hypothetically sxloy
‘ ‘ . f . A 2
OF ative 1o its actual ending inventory position? 4 g
ventory relativ f - ' d 0; e ,
Tnyentory, @id ©] __,______)

(k)smm © Mawhey of (Jcl)/s' sales in /‘Mvenévvy - _COS,t of 8‘;90':’:/365
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' ') /ﬁ $ 150,000 $100,000
F 1§ 40,000 —
A 'lfclﬁ.% (iFdm) 420,000 290,000
W 330,000 210,000
AL 50,000 25,000
Bleh A « 565,000 300,000
Ritdr g ..(55,000) _(25,000)
$1,500,000 $900 ,000
FEATIE 3% $ 265,000 $220,000
HAL & A 70,000 65,000
FEATNER 35,000 —
REAY B ——034 504 250,000 —
A ilf fI% 1% A 600,000 485,000
G ERS 280,000 130,000
$1,500,000 $900.000
S A N
N S & &
SN F 8 BAEFH ) $3,200,000 $2,000,000
SE AR /2,500,000 1,600,000
S5 A $ 700,000 $ 400,000
#  H _ _ 500,000 260,000
AW e 33 $ 200,000 $ 140,000
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